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                                                                Civilization 1 

- War of Roses was at Bosworth; Henry of Tudors defeated His enemies and became the king of England. 
 
-Social Order in English society before Henry of Tudors took over the throne: 
* they depended on the Feudal system order and the feudal relationship between the Lord and vassal. The means of exchange was Land in return of services. 
* In the early decades of the 14th century the social order started to change. Instead of the Feudal system there's the "Bastard Feudalism". It engaged the relationship between a Master and a Man, and the means of exchange became Cash money. 
*What caused this change in the social system from feudalism to Bastard feudalism? – It's the civil wars and the wars with France and Scotland. They needed armies  ---- Missing 


-The Administration in England from the 14th century forward: 
*England was administrated through two systems: 
1- the government and its official departments.
2- The royal household, the chamber.

  -In the late 15th century England was going through stagnant declining 'cause the household was inactive and the monarch was weak.
- The main reason for the depleted country that Henry of Tudors inherited was the spiritual weaknesses and lack of order and law.   


End. 
